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(i)
(ii)

(iii)

(iv)

v)

(Vi)

(vii)

Y Witk TreeTyor i TR ShifT |

This question-paper contains five Sections — A, B, C, D and E.

Section — A contains questions 1 to 8 carrying one mark each. Answer to these
questions may be given in one word or a sentence.

Section — B contains questions 9 to 13 carrying three marks each, answers to these
questions may be in 50 to 75 words.

Section — C contains questions 14 to 19 carrying four marks each. Answers to these
questions may be in about 120 words.

Section — D contains questions 20 to 22 carrying five marks each. Answers to these
questions may be in about 150 words.

Section — E contains questions 23 to 25 carrying six marks each. Answer to these
questions may be in about 200 words.

There is no over-all-choice in the question paper, however an internal choice has
been provided in 3 questions of one mark, 2 questions of three marks, 2 questions of
four marks, 1 question of five marks and 1 question of six marks. You have to
attempt only one of the choices in such questions.

g ‘I’
Section — A

YT

I I IR HIRAT |
Define ‘Workforce Analysis’.

OR

Define ‘Selection’.
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Appliances India Ltd. is engaged in manufacturing and distribution of home
appliances since 1987. It has a good name in the market as the company is producing
good quality appliances. It has separate departments for manufacturing, finance, sales,
maintenance services and technical services to achieve specialization.

Since the areas of operations of the company have increased and customers have
become more demanding, the company decided to modify the existing principle of
management to meet the changing requirements of the environment.

State the general principle of management which the company wants to modify to
meet the changing requirements.

3. focia SToIR ford wohm fort afemafei o Jea-WiS i GETe ST & 7 1

How does Financial Market facilitate ‘Price Discovery’ of financial assets ?

4. T T T HrAY % e, % Twed 3 i Rt e Te e Tesn
i o fore +ffe farvafaemer s | Afea gl [afiiee & Fa1 dehrieh! foraT § |rger gean |
TrafRrd o Riwar of | et o A TEres faum | g6es Tt s favafoenem @ 9
SafT=IfaT Tt ol Wl bt o1 fof foram |

¥cfl o I o TR I TEETHT | 1

Biru Nandan, Chairman of Lalit group of companies founded ‘Biru University’ for
undergraduate and postgraduate courses in diverse disciplines. The Information
Technology department of the ‘Lalit Power Ltd., had few vacancies related to Cyber
Security. The Human Resource Department of the Company decided to recruit fresh
engineering graduates from ‘Biru University’ for the same. Identify the type of source
of recruitment.

5. WA e deh-iehl T8 ¥ $er fesmsfa 1 e 90 ot o wwErq a9l o | fese
f HUS o ITHH H YA T ol ISHT 118 | IH IS AT UTEshi, ITFNT hl ST areft
foraur spaet, qea-fafon Hifd senfe % s # oo 2

FISHT o 38 T ! TgaT-T o aut S el et § 3794 GTa- i feem JeH &
T IGeh! SATIhdT G0 i & foTu fohfaa e =amedt 2 | 1
Varsha Jain after completing her fashion designing course from Indian Institute of
Fashion Technology planned to enter into designer clothing venture. She had to
address issues like her target customers, channel of distribution to be used, pricing
policy etc. Identify the type of plan that Varsha Jain needs to develop to provide

direction and scope to her organization in the long run.
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6. v s e Faf v 3 et 4 e i 1 3w i |
| YT
o SR & “3TE B BT R AL R 7

State any two ‘Developmental Functions’ of Securities and Exchange Board of India.
OR

What is meant by ‘Allocative Function’ of Financial Markets ?

7 ST TSR H 3UcTeY T Y@ feesic “aRi’ 1 3T o & off | Jefifasy W fafie
Tl ) v e v e 3 e A i w) w1 s R | o ae
Elied & fIU U8 o WR W TS d1 399 373 3dTCehl & fgesie ¢ Sl kel dT enl-gss
fiem <Y emrar et firetd-Serd g s @ & | 31a: 9 I8 fvia 7 of weht fop
feesie ma L |

forgme < foreg 3w 3mmufx w1 919 SraTse frest avia Iuts feafa & fhm w2 |

Beena has been using ‘Klean’, a famous detergent available in the market. On
watching numerous advertisements in the television, she decided to try a new brand of
detergent. When she went to the near-by store to purchase the same, she saw
detergents of other producers making similar claims of whiteness and stain removing

abilities. Hence she could not make up her mind as which detergent to purchase.

Name the objection of advertising being discussed in this case.

|8 o fon e e w3 s faeor 1 el A |
: JAYAT
oo Jerer 1T A R 7

Give the meaning of ‘Physical Distribution’ as an element of Marketing Mix.
OR

' What is meant by ‘Marketing Management’ ?
L 66/1/1 4 ElSE
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Section — B

9 AT TSR hl Ug=H 9T 39 ISR H YN hl TTEeIehd13l] Ud 331371 ol 993 &
| YT SRITH TAfHeE 3 TSI’ ST AW TaH 37RI18 JREdaehit a2 SATdeh SR
A S STt U, et U AT ST S geTte Afferd 9, SR & 3aRT | 39 aeft
IcdTg T ISR Il a1 qATaRelt fedwt O, WfRT wEN 9 | 9 37Ud 3aurel b I
gfenfiEt & R =mgd 9 | e 19 1 S | 32 agd AT YA, 999 Td O TR,
Fifeh & THA & foh Teh T8 919 & ToA1 9 haret F1fara IATGH o ToIT ATEehdT 39
Tehd & WAfeh eft off 37 Icare) 1 forshl & SR & STve T8l &1 "ehd | I hT 35k
SRITET <1 ITOTTY fHET qer IeaTel ht Wi Sl IE B TS | TTEeh] I SIS UHE ST a7 I
I AT & T | 38 3Afeh Yo YA i 1 warg TE ot | - % -y,
FHh! TS o BT FEATEA’ SIS hl WG] Th HIIBT-SciTeh & T | IUHIRAT FHhT
AR S H 7T HEEd Hd o | 3
() & um feafres gra sruifera foha S aret forarm ey el o6t ugeaT |

(i) STk el o Tepifara foraurm shaiat =t et o oy Tmesy |

JTM Ltd. launched ‘Buddyline’, an exercise book and comprehensive stationery brand

name comprising of ball pens, gel pens and geometry boxes after identifying the target
market and understanding the needs and wants of the consumers of that market. All
their products were of good quality and eco-friendly but expensive. They wanted to
distinguish their products from that of their competitors. They spent lot of efforts, time
and money in creating the brand name, as they knew that without a brand name, they
can only create awareness for the generic products and can never be sure of the sale of
their products. The effort paid off and the demand for the products started growing.
The customers liked the brand and became habitual to it. They did not mind paying a
higher price. Over a period of time, it became a status symbol to buy ‘Buddyline’
brand because of its quality. The consumers felt pride in using them.

(1)  Identify the marketing management philosophy followed by JTM Ltd.

(1)) Explain the advantages of branding to the marketeers highlighted in the above

case.
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HidT T S H TS Folgw’ TH & JTSHHIY 1 Ueh Thcl STT8 & | ITeh! TSGR
g4 &1 WGE 8 | 98 STEHHT I 16 15l g H L] g T4 36 G Icaled HFShH
fafir TR < worad aum Yencl 1 3UTeY & | I8 gHfTaa s o forg foh wmees 3R o fog
I TR 3T GER & Fagr 329 FUiia e & 91 k! &= o wad 3¢ 98 +r
FA 3 |
TR ! TEAH H IS 1 ATH I3 oh HRUT IHeh! HGH 3TST I Tal AT | 3fereh o
A o o TT 30 ATl 6 Heldt 3TRY 1 | 3898 Hvfl-heft forawor 4 ¢t gt off qen
JMEThHM STHR § THY W el uga uret oft | Ao, IHeh! JTeEshIg i 1 e g 37K
3ok HROT TTANTAT  STTR H T Bt foT | I8 379 STSIR 91T 1 $ 3791 Tfcii=i
o fore =t fear |
eff < e o TR § fafdry sreeri & fore 38 fafia worad % 4,000 mEshm kel 6
Y[ Teh o S1C Teh i I TG UTH G | I8 GHITad A o fo7w b el a9 X quf
Bl AT ATCI <61 Tl T9 T g1 35 fATh HHETRI ht FYRE 61 | 389 TR 98 T0T W
IEUTEH AT TTSHSHT b Fehel ohT It hid U Thd g3, T 3T IcTe AT W |
wifeferfrdt <t ot whta wHe aen @t B it % forg feu e et w9 R g,
a1 3 31ga fera fop o8 T4 3 Teh HEaqul 981 shi 3TN S T S W R |

AT g & 7 feu S a1t Y& veT sl Ug=TT | 91 gl Ush ISl < gEredn o
3 FHEET |

Mita has a successful ice cream business at Bikaner, namely ‘Smartflavours’. Her ice
creams are utterly delicious. She makes ice creams from fresh milk and the same are
available in a wide range of flavours and packs. She sets viable business objectives
and works with the same in mind in order to ensure that the customers will come back
for purchasing.

Having the first mover advantage, her business was doing well. To earn higher profits,
she started cutting costs. This would sometimes lead to delay in delivery and the ice
cream was not reaching the market in time. Over a period of time, the demand for her
ice cream declined and because of it the competitors entered the market. She lost some
of her market share to competitors.

At the beginning of summer season, she got back to back orders for supply of 4,000
ice cream packs of different flavours for special occasions. To ensure that the task was
completed and orders delivered in time she hired additional workers. She was, thus
able to produce and deliver the ice cream packs but at a high production cost. While
completing activities and finishing the given task for achieving goals, Mita realized
that she was ignoring one of the important aspects of management.

Identify the aspects of management that has been ignored by Mita. Also explain the
same with the help of an example.

O] 0]
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1. wm-mfy qn e e @ R S % w9 § e B | 7
| el @ i R E 3

State ‘Job Enrichment’ and ‘Employee Participation’ as non-financial incentives. How
do they motivate employees ?

12. ot frem o 3e9a1 o1 TmeTsy | 3
! YT
o weer o1 R 31 @ 2 forhie geee o Wi 389 w1 Ieai hifvru |

Explain the objectives of Financial Planning.

OR
What is meant by ‘Financial Management’ ? State the primary objective of Financial
Management.

13, TS O g T TR & S AT St auT SEIeH S T R e | |

38 M % Ty # ui A foh ey vk fomm 2 | 3
e

Yoy Teh Sfeet Miafafyr & forees @i g 3 € | 39 STl o6l |WEmsy |

‘Science is a systematized body of knowledge that explains certain general truths or
the operation of general laws.” In the light of this statement, describe management a

science.
OR
Management is a complex activity that has three main dimensions. Explain these
dimensions.
gug q’
Section — C

14, TR fAfie Y une S TR - ETeTh e & R % R e w1 Suse e
| P | 321 38 YR I |fsr & wfa IuieeT it wmefiesdrett w I % foe T
Teror fopam | 38w fop StRrerier Suvier wfewat ST § 3TNt T S ATt T
Tt o 9R | fafea € 1 3 amn 7R 90% iar g faskeut il @iw § § | et 3
Fh! g Afesrat I <hl IRy st Feifa o & fore iy fosivs & v wgg @ aordh
fopan & | 32 =g fofa foran o6 =8 Tawed faferll gro w@re-ge afsmt s & fog
Hfvrent w1 ifdreror fezm S | foriest = frdh were qendfient ot oft gema feu forae mem @
Y TgArId § a1 TRt YeTaR KR |
SUUTh IFEE # TehIITd SATSETRIS TATaul % & STRITH! bl Tg=i-u ud guense | 4
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Mahinder Agro Ltd. started a new venture for distribution of harmful and chemical
fertilizers free vegetables. They conducted a survey to find out consumer preferences
for such vegetables.

They found that most of the consumers were concerned about the harmful chemicals
being used in growing the vegetables. They found that 90% of the households were
searching for its alternatives. The company contacted a group of agriculture experts to
lay down the procedure for growing the vegetables by the farmers. They decided to
train the farmers in new technology to grow chemical free vegetables according to new
innovative methods. The experts also suggested soil management techniques through
which farmers would be able to create an abundant and lasting harvest.

Identify and explain the two dimensions of business environment highlighted in the
above para.

L 15, m fafie shed o % TR § o s geen FEE st w2 R o
5 TSRl hTehal Wi <t TS T HIAAT S ATHAT H o forw wfesa & fergeiwor
e wiosaamft gRT 3T 9 o I TSHIE S4Td & | Aok OIS BT YT hich, el
6 quicrn s i STt ] Fifer 3 e 1 ATie Y w % forw Saeer B & | I9er
fomist & wy foem-famel %6 % yverd fowga GoFTE AR A ST E | e
FERIAT ] T o ToTT YRR St ggarer ot <l STt & | <o a8 weh siifiges iafafy &
frem gfgam weumrte aun foaeyut ffm & sawesar 2t 7, 31a: I8 g&Ia: 39
Yo GRT AH9— i Sl 8 | T Y He& hadl AIeHI3T i franfaa &id 8 | 92
T Teereh! w1 Ao & ferafera 81 w1 7 a1 tfres 8 B 3 1 @ 3% o s d
I3 1Y U h! AN BT & | 3= Ja-9 Ig HITad Hiar 7 fo Assti 1 a9@ | gH

Tl o 399 3T~ AT o fou =rmerenma 2 |
Ik 1 aftta e i foreal &1 st qen foredi @ fororaanati o1 Ieorg hifsw |

Mega Ltd. holds an Annual Management Programme every year in the month of
March in which the top managerial personnel formulate plans for the next year by
analyzing and predicting the future to meet future events effectively.

As they are responsible for providing direction to the organization, facts are
thoroughly checked using scientific calculations. Detailed plans are prepared after
discussion with professional experts. Preliminary investigations are also undertaken to
find out the viability of the plan. Since it is an intellectual activity requiring intelligent
imagination and sound judgement so it is mainly done by the top management.
Usually rest of the members just implement the plans. Middle level managers are
neither allowed to deviate from the plans nor are they permitted to act on their own.
The top management ensures that the expenses incurred in formulating the plans
justify the benefits derived from them.

State any two limitations and any two features of planning discussed above.

L 66/1/1 8 ElSE
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fomer fafies 3 feumeer yew = fyardt o fostelt < skl o1 fmfor %@ qon goR &
SATATIET <l 3! TTYfd i o fote ush fmfvft serts weonfia <6t 8 | e 3cured @& wfa
TETE 500 TG AT | Ya-eehi gRT I8 i form o T3 10 3ehrsai @b o1 IcdTeq fomem
HII BT | Yo HHTE o 37d H 3caTed 450 M8 o7 | 37Tel JH18 3cuTed sgeht 470 o

B T | T GHTE I9ETd ITed 460 SE o1 | W9 ugdae W Ad §37 6 foweht
ittt 3mgfd % BRI | IAX-TEE B T&T T |

(31) STIh TTDE | T4 & Teh T shl UTshaT o FHo =01 hl =it shi T 7 | 3 =0l
%I HATT |
(&) @ & 3 =T 1 ot Ieor@ HfT et == InRe e i TR HI T 8 |

Vinber Ltd. set up a manufacturing unit at Bhiwadi in Himachal Pradesh to
manufacture electric geysers and supply them to dealers all over the country. Their
production target was 500 geysers per week. It was decided by the management that

variation in production upto 10 units would be acceptable.

At the end of the first week, the production was 450 geysers. The next week,
production increased to 470 geysers. A week later, production was 460 geysers. On
investigation, it was found that fluctuation in production was due to irregular supply of

electricity.

(a) The above para discusses some of the steps in the process of one of the functions

of management. Explain these steps.

(b) Also, state the step(s) that have not been discussed in the above para.

3fosa Al i WM o foTC Ted ® <ol i U sf@en |ffferd 2idt & | 39 =Rl
HHATRT |

YT
“ESA o WE o ol dT fag3] sl HHEST |
Organising involves a series of steps that need to be taken in order to achieve the
desired goal. Explain these steps.

OR

Explain any four points of importance of ‘Organising’.

9 Zee P.T.O.
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Tieh TaE=IS Tfavfd STSTR # Teh Farmes o &9 3 i a8 | 98 Teh U Fad ST &1
Yo hLaT B Sel Sferferit b @lier o s s @ | 9 fafereaie @ el qen
e % 1aEt wer et @ | fafes qen qa:fe it s\ wftkn & mem |, St ®
Ttk IcaTee A 92l § ST fohar STt 2 | 918 gifead o o foe o frerems sar
TR § e ud fsuet i - ot Heh, IR SSTR 1 TeRIdT 37 &7 § ffa <t St
2 3TN 38 TH- 1 T It e 3 S1gHR gersid &9 @ affyd fohan smar 2 |
I8 u ft =t fofafia teh, 37=8 IR SaEri 9 S sl (et o 9 1 firfaa s
Tq THTE SheHi i 33T forqa Tfied ol giHfTad i ¢ |

I TS H Wioh ThT=sl gRI HUTled fofe=1 Sl 1 9ui foram T 2 | Swied &
Ufchal %1 3T U T T1oh TFEIS o [ohral TR 11 o1 FUH 1T |

Stock exchange acts as a regulator of the securities market. It creates a continuous

market where the securities are bought and sold. It gives investors the chance to
disinvest and reinvest. Through this process of disinvestment and reinvestment,
savings get channelized into their most productive investment avenues. To ensure that
the investing public gets a safe and fair deal in the market, the membership of the
stock exchange is well regulated and its dealings are well defined according to the
existing legal framework. It also ensures wider share of ownership by regulating new
issues, better trading practices and taking effective steps in educating the public about
investments.

Various functions performed by the Stock Exchange are discussed in the above para.
By quoting lines from the above para, state any four functions of stock exchange.

oo e “fersha # 31t o fohegl = forg 3l b1 wHeTsy |
YT
ferur & 1 shrIt w1 wwemsT -
(i)  3UTE T TR T forehrd, oI
(i)  THTHYERTT Td U T LT |
Explain any four points of difference between ‘Marketing’ and ‘Selling’.
OR
Explain the following functions of marketing :

(1)  Product designing and development ; and

(i) Standardisation and Grading
10 O] 0]
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| Section — D

20 TeeY o gl o Had o foheal uidl feirg 3Tl shl qwersy | 5
| YAl

AR Ty o TR deniient o1 EHesT :

(31) YhM LI, qAT

(¥) TaveTes 318 AsIG Jurme |

Explain any five points of significance of Principles of Management.
OR

Explain the following techniques of Scientific Management :

(a) Fatigue Study ; and

(b) Differential Piece Wage System

21 A H diees IAN-TEME Fgd &l T T 3714k Bl g | T8 TR sl o Iuehtvn S8
e, DA A TS F A TR S S O & s
feufa o Sed 8 | W-TE w3 390 R & e @7 9ieds Sar-<ieE <kl dim
220 diee T 230 diee o 9 7, LIS S 1 (Ui o | 59 Teh 91 3T WRA i
HIT 1 G K feom T, 364 g Fot forn fob wra % 3= &l | oft Siedst SarR-<grd
&I JTETIHATT Bl U HH o fIT 90 diee T 260 dlee T o WTATETH I ST §
AW ST, | R o feor, ufean g goff &t o ot d= stfirmarst 6t frgfaa 6 w5 w=ifs
T <1 &1 8 Sieds STerT-31er off | Fafy ot srfirmanat 1 weeres % fmio % fore
foragert foparm Tram e <ifere b & @ qER &1 o Icrg | fireran o |

(31) TS I o TTSATCH G ohl Yg=THT |

: (§) IR 3T=e B Tg=H T @ o fehedl g1 o1l qei & TwTait 1 Soot@ hifery | 5
| 66/1/1 11 %ﬂ% P.T.O.
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Voltage fluctuations have been common and quite high in India. They harm our
electrical appliances like televisions, refrigerators and air conditioners, often leaving
them in a permanently damaged condition. N-Guard Company decided to manufacture
stabilizers for North India where the voltage fluctuation ranges from 220 V to 230 V.
Once the demand for North India was taken care of, they decided to launch stabilizers
of varying voltages from 90 V — 260 V for meeting the requirements of voltage
fluctuations in other regions of India also. Three engineers were appointed for South,
West and East regions of India, as the voltage was different in all the three regions.
Though all the engineers were appointed to manufacture stabilizers but the product
differed from region to region.

(a) Identify the organisational structure of N-Guard Company.

(b) State any two advantages and two limitations of the structure identified in the

above para.

Trem &t weh Uftg TmRieE St W T TS Telee Afdas § g THEE Ja-eeh o §9
o B A | 3Fh HE H B -TIaw0r TR w1, 9ol qiiestis vg e TeEm
ToreRf&a ST AT BT < Teq0T 1 laeTsen SAHT AfRIerd AT | 38 379 BT
o Faq 118101 <6 ToTq TeerHi o |19 Teaed foht 30 9 | S8 -8 1 31feres | 31fvres Sfea
B R 9 % TA 3 Teliadt dfdas 3794 SR bl B Uf i o SATE9IH DIl Bl
Treqor &3 o forw feres gen 4 o fafanfora s oft |

fopgl ua famgatl & g1 Ieoi@ <hIfE fob o8 forfrnm fope wehR wTad & foig
AR BT |

Nisha Sethi was working as a Human Resource Manager in a famous consultancy
firm, KLI Global Services. Her job included preparing job descriptions, recruitment,
developing compensation and incentive plans and facilitating employee learning. They
had entered into alliances with institutes to ensure continuous learning of their
employees. With the jobs becoming more and more complex, KLI Global Services
invested large amount of money in making the employees learn the skills necessary to

complete the jobs.

State by giving any five points, how this investment is likely to benefit the

organisation ?

12 i
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Section — E

fofir= wepR < 1T % Tafaress IguTa o frafor fafis wret W fl s & 10
forgl ©: STR! 1 AT |

YT
T AT BT WA | & AT I S T S | 1@ o i w1 wwifed e aret o
S: I hl THSTST |

‘Determining the relative proportion of various types of funds depends upon various

factors.” Explain any six such factors.
OR

Explain any six factors affecting the decision that determines the amount of profit

earned to be distributed and to be retained in the business.

198, Teh TETUl SN TS § | $H UM o fore feeeft/ugie Teeh & |
femms o weia & e S <6, ferwa o —
SAfereh @TET — @d T I deh’, difh SAfeh Tl & Hawd o SR H SINEehdl hells ST Hob
AT IUTTFATSTT =l RN W BIgehl [SHH TETE T ShieTeTeh S iford &, Sifereh @l
1 31 Ifea T <1 @k | Topam wger & faeivst yeerRat 3 @t § TRl % =rae
T T Sifereh @Te < HEwd sl THATET | Al ! giaa fopan mn fob we fafia &9
T <Al AT HLaT B ik T eTgaTt 37erE hieArerent <hi Iufefa St firerradt s vg=m
ST ek | At | il Icarel i uredt o SR H SEshdl Sci= i o T adtei <
i B gt wifres ufieRt et aerE § wehifira fopan AT B | 9w SuMieRTST
Tt S St o T HETdt T it were | veH el € |

I 3T § URhAT 3gYd hid g USRS % fadi o T 9 Taeq & forg
g FrE’ g fsarfea fohu ST aTet St b Seer@ HIT |

(O 0|
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‘VOICE’ is an important consumer organization. It organized workshops in the
months of December in Delhi/NCR for consumers. The theme was ‘Organic Food —
From Farm to Plate’, to spread awareness on the importance of organic farming and to
encourage consumers to switch from conventional food, that contains chemicals and
pesticides to organic food. Expert speakers from farmers’ community explained the
harmful effects of usage of pesticides in farming and the importance of organic food.
People were informed that the organization regularly tests samples to detect
adulteration like presence of heavy metals or pesticides. The results of the tests are
published in their monthly magazine ‘Consumer Voice’ to make people aware of
quality of different products. It also provides aid and legal advice to the consumers in
seeking a remedy.

State the functions performed by the Consumer Voice for the protection and

promotion of consumer interest by quoting lines from the above para.

war fifg, Frer tewmssE & g yemEie ke § | a8 dmiese g <l T
fomfoft et 3 | ST &1 SREH @1 @ SEH Thia § SHE Sl Bl T A1 aghd
fora ST 8 98 3cTed, fomt, fauom wa aFe wEne | R wewmssw 6 il s
AT H B | HREH ¥ 95d o5 999 8 95d | 99eTd 9emi 6 aiE el g8 off faehi
S IcTeT Yawereh 0T T 1 off | I ° STl YeuTd & | a99-80T W
Je4hi TF HITTR < S TAdhEmT 8l STdt ot | FHesti ol &9 § T@d g %0 I
3 foemm fig it ffea 6t @ awafos wri-ve & @y ™ FE@ 7 gemai
Je4hi o STTCITT ohi AT qeh 5T T 14 T o1 SN o1 | Fmm fég = o7 smi
Y fircTert 39 1 1 99 foh v o1 I1gdT 8 7 39k UvETd 98 hu=nil ¥ fien 3R
38 JeUhl % TRl & 37T fokan | 35 et sl ot a8 Srverd fean o6 o7 3Th
THSIS ¥ Je-4hi 1 A HUTT | 36 YHR I8 Yool Td HEATT o o=
TAAAhETHAT 1 G TehaT | IHA Tk Hawe| sl Wi g feharm ST 7o+ iz fafer < weh
TR % 3Tet HHATET ! Tt § Fohed B TR | Ja-a g 36k 1 ol Tftehf fireft 3fit
38 7= oG o ToTQ e | 10% g o E1e Teh THT0T-93 f&am 7w |
() Tramm &g g o Sl &1 fsared fom T S 39 ug % fore fysmifea fope e
v ¥ T8 W g8 S A @ AT | TH 31 9T BRI Dl Ieohd hITC, 5ok
fasare <t srde feemm fig & < < @kl 2 |

(i) Toremm g = fou Tu srfinkest & M samsT |




| 66/1/1

Pratap Singh is the Chief Executive Officer of Nissar Enterprises. It is an automobile
parts manufacturing company. The enterprise has a functional structure, in which jobs
of similar nature have been grouped together as Production, Finance, Marketing and
Human Resource. Nissar Enterprises has its manufacturing unit at Manesar. The
factory has been plagued with many problems for a long time which was in the
knowledge of the Production Manager, Varun Sharma. The workers had internal
differences. Time and again, there were misunderstandings between the management
and the workers. Keeping the problems in mind, Varun Sharma appointed, Siyaram
Singh who had 14 years of experience of working with the actual work force and

passing on instructions of the middle management to the workers.
Siyaram Singh met Varun Sharma to understand what the management wanted ?

Thereafter he met the workers and conveyed the ideas of management to them. He also
promised the workers to convey their problems to the management. In this way, he

cleared the misunderstanding between the management and the workers.

He also sorted out internal differences and was able to unite the workers within a
month of his joining. His work was acknowledged by management and he was given a
certificate of good performance along with 10% increase in salary.

(1) Siyaram Singh performed some of the functions which are required to be
performed at the position he is working at. State any five other functions

Siyaram Singh is expected to perform.

(i1) Name the incentives provided to Siyaram Singh.
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